BARS(BHrE—FEER—HAE)

RS R R REE R

1 =& R3.9.26 FEE - BEE RER R6.2.4 28.3 A 5 85 9.0 2.1 774 12 3 577.6 61.6
2 % R3.10.6 BEE BHE fEifR R6.2.8 28.1 A 5 81 9.2 1.6 77.7 12 4 560.0 57.1
3 = R3.10.7 B R EHR R5.11.20 25.4 A 5 108 10.5 1.4 81.9 12 3 557.6 51.4
4 * R3.9.2 EeH R EHg R6.1.18 285 A 5 69 8.7 25 75.3 12 4 536.0 529
5 & R3.10.17 TR ZEA EHE R6.2.28 28.4 A 5 76 8.6 2.1 76.6 12 4 518.6 60.6
8 = R3.9.2 TR FEE EHE R6.1.18 28,5 A 5 72 8.8 26 75.8 11 4 517.1 60.2
7 & R3.9.17 EEH BHAE EiEFE R6.2.8 28.7 A 5 75 9.6 2.1 774 11 4 500.9 61.1
8 =% R3.9.14 $£KRER3 REA EHER R6.1.18 28.1 A 5 66 9.3 40 732 10 3 589.3 60.7
9 % R3.9.29 RN ZR_/A i R6.2.4 28.2 A 5 54 9.5 29 73.6 10 4 523.1 63.7
10 & R3.9.22 BHEE HEN (RE) EHF R6.2.8 286 A 5 75 9.2 18 77.2 10 3 513.4 60.6
11 & R3.9.25 TR BEEE =& R6.2.4 28.3 A b 51 8.4 3.7 72.4 10 4 468.8 60.3
12 =& R3.9.13 T SEN (R EiE R6.1.18 28.2 A 4 63 8.2 2.2 74.1 7. 4 551.5 63.8
13 It R3.9.14 Frh REA EHER R6.4.11 30.9 A 5 97 9.0 2.5 78.9 12 4 5495 56.7
14 B R3.10.7 EEE TR R R6.3.11 29.1 A 5 72 75 1.5 77.1 11 4 4213 61.8
15 &  R39.10 FES3 B {EHER R6.3.11 30.0 A 5 82 8.9 1.7 78.4 10 4 479.5 62.3
16 B  R3.10.11 FEE BEA R R6.3.11 29.0 A 5 74 8.3 1.4 77.9 10 4 435.0 62.3
17 B R3.0.18 EERE mzE Ly R6.4.22 31.1 A 5 71 9.1 28 76.4 9 3 464.3 63.0
Y (=2 28.1 72.8 9.1 24 76.1 108 3.7 534.5 59.5
iy (5:3) 30.0 79.2 8.6 2.0 77.7 10.4 3.8 469.9 61.2
iy (&4F) 28.7 74.6 8.9 2.3 765 106 3.7 515.5 60.0

=g AR ER L

5EHKE 91.7% 100.0% 94.1%

4ERE 8.3% 0.0% 5.9%

Hi 100.0% 100.0% 100.0%



